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Directions (1-5): fferaa aTferst ® 9= SERT-3TE T HAAT § T TAT-3TAT a1 H LRl
aﬁwwaﬁaﬁw% TTTTEhT T STETAT hiTord Sl 8 AT o I &1

FIAP | 0t Q | F90TR | #9tS | Fa0T

2006 15000 16000 12000 21000 13000

2007 20000 14000 22000 29000 17000

2008 12000 22000 26000 35000 26000

2009 18000 28000 30000 25000 34000

2010 25000 35000 40000 20000 30000

Q1. |sft Fut H Foet Q # RRRAT AT 3fed 5t #9471 52
(a) 23000

(b) 25000

(c) 24500

(d) 32000

(e) 28500
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Q2. e a9 &, g+t Fafaat & e o R sfaman 872
(a) 2008
(b) 2009
(c) 2010
(d) 2006
(e) 2007
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Q3. &t T # gt &t gt g, Fuer S # Rieat it ot dear 7 fohae gfaera sfass a7 w0
g?
(a)
(b)
(c)

2y,
(d) -7
() ZH & FrE TEH
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Q4. T 2008 ¥ FUAT Q T R # A Rf=eat &t g&ar &7 a9 2006 § FA+1 P T S |
o Rt it Sear | sruTa T 872

(@) 5:
(b) 2:
(c)3:
(d) 4:
(e)4:5
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Q5. FIT R # o1 R, @+t a0t & &oet T § g f=rat &1 e sfaera 872
(3)115%%
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(c)
d 110%%
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Directions (6-10): ATt | 4 AT IOt § T G I AAT-3T [FOFT | IT ST Al
FTTAT AT | MHTad T=11 o I o o TorT {95 qTerehT T sreqae oy

CL 1.3, F 0T 4 FUT H 5 A= UL | HOT g I F
et ATSHIIHAT | ST | TR EEUGREL
EEIC) (100) (150) (150) B
(150) (100)

2008 75 70 90 80 60

2009 100 75 100 100 75

2010 110 80 120 120 70

2011 120 85 120 130 80

Q6. T AT qUT § Tl A== § HTH T 9TH F 3% AT i
(a) 410

(b) 305

(c) 405

(d) 415

(e) 420
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Q7. a9 2009 ® Tt fAw=t & AT ST FRT I T 31 H7 T(AAT 1T Dliord | (FAITH)
(@) 57%



(b) 81%

() 75%

(d) 69%

(e) 60%
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Q8. T 2010 H HTSHITEET | HUW g TTH &, qH 99 § SSARTAT § ITH 01 0
TR TR Tiaerd 872

2o
@) 613 )0

(b)
) 64%

2
555%

5404
(c

(d)

20
© 663 %0
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Q9. ETY « Fohg AT & 7+t =1 a0t ®§ fHere feeray st ure ohu?
(a) STATTTAEAT 37T AT

(b) 7=t fAsT=

(c) ATEHISHAT

C)ESUERMREER

(e) FTFfY

L1Difficulty 2

QTags Table DI
QCreator Deepak Rohilla



Q10. 39 T a9 2010 # AT § ITT o (Tfaerd /), a9 2011 § Sty e & wra
I (SrTrera ®) & ST Fohawr gfaera stferes a7 w7 g2

(a) 5%

(b) 4%

() 1%

(d) 2%

(e) 0%
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Directions (11-15): = &I < ATfeRT H AT(UH GLAT H ITH AAT-TAT =gl it 14
ST-TAT FHeAT3A o TAATIHAT FIT T 3 IATT MW g1 ATART HT SATAIAT TETIAT shl 1T
T I AT I W7 F 3L S|

e T— | A B C D E
FHEATY,

Il 320 250 | 280 | 350 | 260
" 280 340 | 400 | 450 | 180
v 240 220 | 310 | 280 | 220
V 300 200 | 250 | 310 | 340
Vi 260 180 | 360 | 260 | 410

Q11. fF=me™ D # F&7 IV & =t T 3= 7000 % wra o, stats a9 fG=me & e
VI % fe=mfeat F F1 10,400 3 e fHm) 39 21 Fevet & faenfay i g1 #§ a7 Ja

Fror|
(a) 25

(b) 15
(c) 40
(d)12
(e) 18
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Q12. o= E #, Far V & A=t T gor 11900 i ara o) ot arnefte & gerrea &
g araT AT R g et F st A w420, 400, 310, 200 =¥ 210 F a9 280,
370, 480, 450 3T 320 T H TET TAT| FHTT F AT TAT ST (ATHT) 7T o

(a) 320

(b) 325

(c) 340

(d) 330

(e) 335
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Q13. o FedT &7 S oih, for=mera B &t %eT V & e sishi &1 160% 272
(a) &t |l fF=mer T D

(b) FaT V =T E

(c) e VI o= C

CECIRERIERE

(e) F&T |l FF=merT A
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Q14. fE=rme = C, E, D =T A it swwer: wer I, V, 1 =i VI F ieq 3t & JeaTeq® q19 F7

T ST e
(a) 336.5

(b) 327.5
(c) 334.5
(d) 337.5




(e) 335.5
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Q15. fF=mer C & #eT VI % oo oiw, fFaeme™ E &t F&7 IV 8 st fhae afqera o stfee
IT FH 872

(a) 62%

(b) 60%

(c) 64%

(d) 68%

(e) 55%
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Solutions

S1. Ans.(a)

Required average

1
= T % (16000 + 14000 + 22000 + 28000 + 35000)

1
= = ¥ 115000
Sol. = 23000
S2. Ans.(c)
Sol.

From the table, it is clear that the maximum no. of vacancies from all companies is in
year 2010

S3. Ans.(b)



Total vacancies in company T = 1,20,000
Total vacancies in company S = 1,30,000
~ Required percentage
_ 130000 — 120000

100
130000
=7 i %
Sol. 13
S4. Ans.(d)

Required ratio
= (22000 + 26000) : (15000 + 21000)

=48:36
=4:3
Sol.
S5. Ans.(e)
Required percentage
1,30,000
=———x 100
120000
1
=108 3 %
Sol.
S6. Ans.(c)
Sol.

Total marks obtained by Rishabh in Material science
=75+100+ 110+ 120
=405

S7. Ans.(d)
Required percentage
B (100 4+ 75+ 100 + 100 + 75)
(150 4 100 + 150 + 150 + 100)
=69.23%
~ 6904

X 100

Sol



S8. Ans.(e)

Required percentage

80
=—x 100
120
= b6 2 Uh
Sol. 3
S9. Ans.(a)
Sol.

From table we can see that the required subject is Thermodynamics and Mechanics.

S10. Ans.(e)
Required percentage
120
1c0 »* 100 — 80
= = 100
80
= 004
Sol.
S11. Ans.(b)
Number of students in class [V = % = 25
10400
Number of students in class VI = 260 = 40
~ Required difference = 15
Sol.

S12. Ans.(d)



Number of students in the given class
11900 _

340
Change in total marks due to misread

_ | (2804 370 + 480 + 450 + 320)
| —(420 + 400 + 310 + 200 + 210)
= [1900 — 1540

=360 marks less

360
~ Change in average marks = 340 — 35
Sol. ® 330
S13. Ans.(e)
Sol.

Average marks of class V of school B = 200
So, 160% of average marks of class V of school B = 320 which is same as the average

marks of class Il of school A.

S14. Ans.(d)

Required average

= ~(400 + 340 + 350 + 260)

= 3375
Sol.
S15. Ans.(c)
360 — 220
Required percentage = ——— x 100 & 64%

Sol. 220



